A B REFIFhEE

% 8% F1E 2016411 H23H
7 FRERKHR VS 1 iF=YI=EFBA
H= A=
FRERKITF RYIZTFRA RYIZTFRA S N
1t : 74y IR FRIR it : SREAZE X 55
R ke 7 e R BHK 7o B
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 3C -2 100 [ri] 3NT = -400 11
2 it [£3] 7S = 2210 [£3] 6S +1 1460 13
3 panyiie] x INT +2 -150 [ri] 2D = -90 2
4 PWE=] x 3S = -140 ® 3S -1 100 6
5 it 1t 6H = 1430 1t 4H +2 680 13
6 g [£3] 3NT -1 -50 1t 2C +2 130 5
7 PE=] [ri] 4H +1 -650 [rit] 4H +2 -680 1
8 TS x 3S -2 100 [£3] 4D -1 -50 4
9 g [£3] 4S +1 450 1t 6C -1 -50 11
10 | \WHB x 4H +1 -650 [ri] 3NT +1 -630 1
DATUM%tit iFEE
FRERKHF i~ IIZEFBA y. S+ ] 53 | 14
A /AKER 14 SKEE/ZK  -35 &it 53 | 14
Ea/E—F 35 WRAeES -14 V.P. 191 | 0.9




A IHEZ REFIFhEE

% 8 2R 2016411 23H
18 ZEIEERA VS 8 M5tk —PA
H= A=

B o o\ e

1t : KBER R 2T5R it : FEH% K . 1BE8

& R 7 - = 7 - SR

x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 3C -2 100 [ri] INT +1 -120 6
2 it [£3] 7S = 2210 [£3] 6S +1 1460 13
3 panyiie] [ri] 2S -1 100 [ri] 2S = -110 5
4 WE=] x 4S -2 200 ® 3S -1 100 3
5 it 1t 4H +2 680 1t 4H +2 680
6 panyiic] 1t 3NT -1 -50 [£3] 3NT -1 -50
7 PE=] [ri] 4H +2 -680 [rit] 4H = -620 2
8 TS 1t 4H = 420 [£3] 3S -1 -50 10
9 panyiic] 1t 3NT = 400 [£3] 4S +1 450 2
10 | \WHB x 3NT +2 -660 x 4H +1 -650
DATUMSit T
TZEHBEPA AiSpE—PA Y. 3+ 37 4

KEUR/ARE, 20 FEFR/EFE -19 ait 37 o
FEEBU/EKEREB 19 RTHR/ KRR -20 V.P. 183 | 1.7




A B REFIFhEE

i 84t B3 2016411 H23H
3 FREEF VS 2 BRiFBBA
A= =
IREEFBA B RFHEA B iFiBA KRB FRA
B | ARE %] IR : BT it : gEE%e R =
B RCE 7 : &l B B 79 . ZHE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wxEl @ [ aNnT | +1 | 430 | % | 3c | 1| s0 10
2 |BEitl = 6S +1 | 1460 [£3] 6S +1 | 1460
3 |mm| & | 4s | 3| 300 | & | 3NT| 2| 200 3
4 |wal % | 3s | = | 1490| m | 4c | +1 | 150 7
5 |ml 4t | eHx | = | 1660} 4t | 6H | = | 1430 6
6 |mA| 4t | aNT | = | 400 | & | sNT | = | 400
7 |wal ® | a0 | +1 | 50| 5 | a0 | = | -620 1
8 |wxl % | 3s | 2| 1w00| m | 40 | 2| 50 | 4
o |mAE| 46 | anT | 2 | ;200 4t | anT | = | 400 11
10|wel|l ®m | sb | = | 600| 7 | a0 | +1 | 650 | 2
DATUM&iit iFE
FEEBE B RFNEA 7. X ] 15 | 29
IXE/IRCE 4 REEL/ BT 21 ait 15 | 29
Z R/ 21 XPEELT /B 4 V.P. 5.46 | 14.54




A B REFIFhEE

% 8 4R 2016411 23H
15 ;T aPA VS 4 HEKS
H= A=
TEEE e e TEEEN
| AR EFIN X : "B 1t . == R 5K
R =%z A MEZEE A BEE 74 : BocE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 el 2 | onT | = | 120 & | aNT | = | 400 | 7
2 it [£3] 7S = 2210 [£3] 7S = 2210
3 panyiie] x 2D -1 100 [ri] 2S +1 -140 6
4 E=] [£3] 4C = 130 [£3] 3C +2 150 1
5 it 1t 4H +2 680 1t 4H +2 680
6 panyiie] [£3] 3NT -1 -50 1t 3D +2 150 5
7 E=] [ri] 4H +1 -650 [ri] 4H = -620 1
8 TS x 3S -2 100 1t 4H -1 -50 4
9 panyiie] 1t 3NT -3 -150 [£3] 3NT +1 430 11
10 | WHB x 4H +1 -650 [ri] 5D = -600 2
DATUMSit T
iIFSRIEPA HEKS Y. 3+ 17 | 20
(ET =k -8 TRE/SEZE -4 ait 17 | 20
KA/ g 4 MIB/ME EE 8 V.P. 8.86 | 11.14




A IHEZ REFIFhEE

% 8 5 R 2016411 23H
16 " ZRERPA VS O H5ik—BA
H= A=
RS o o RS
Tt =5 % - =99E 1t EmH P
e 7 ek e 75 - #1155
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x INT +1 -120 x 2C +1 -110
2 it [£3] 7S = 2210 [£3] 6S +1 1460 13
3 ,?ﬁ x 2D = -90 x INT +2 -150 2
4 PE=] x 3S = -140 ® 3S = -140
5 it 1t 5H +1 680 1t 6H = 1430 13
6 panyiie] [£3] 3NT = 400 [£3] 3NT -1 -50 10
7 PE=] [ri] 4H +2 -680 [rit] 4H +2 -680
8 TS [£3] 4D = 130 x 3S -2 100 1
9 ,?ﬁ [£3] 3NT +2 460 [£3] 3NT +1 430 1
10 | \WHB [ri] 4H +1 -650 [ri] 6D -1 100 13
DATUMSit T
I Z&ERPA B8 s —RA Y. 3+ 27 | 26
EBRNNRT R 6 Eih S 5 ait 27 | 26
TaE/N||FF -5 Z=BREN/#n5edE -6 V.P. 10.39 | 9.61




A B REFIFhEEE

% 8% %6 % 2016411 H23H
10 FaBRCHERA VS 6 EBXBEP
A= H=
FAELLAERA BREFR BREF FAELLAERA
It : xR iR EANE It : BHE IR K
B PEhnE [T E M) . HE i S )
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 3NT = -400 [£3] 2D = 90 10
2 it [£3] 4S +3 710 [£3] 7S = 2210 17
3 panyiie] [ri] 4S -1 100 [ri] 2S -1 100
4 =] [£3] 4C +1 150 5| 4S = 620 10
5 |®#dt| & | 4H | +2 | 680 | 4t | 4H | +2 | 680
6 panyiic] [£3] 3NT = 400 [£3) 3NT = 400
7 WE=] [ri] 4H +2 -680 [ri] 4H +2 -680
8 TS x 3S -1 50 1t 4H -2 -100 4
9 g [£3] 4S = 420 1t 6C -3 -150 11
10 | \WHB [ri] 4H +1 -650 x 3NT +2 -660
DATUM&iit iFE
RISULHSEA SEREE 7. X ] 15 | 37
fRXE/MEINFE  -16 OhnE/HE 10 &it 15 | 37
BoKER/ASH  -10 ErE/EEET 16 V.P. 3.61 | 16.39




A B REFIFhEE

% 8 7R 2016411 23H
17 FYIBRES VS 11 FZEELRA
H= A=
T S S T
= S E— % - B
B EER 7 : IR i RE 7 . BE=
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 3C -1 50 x 3C -2 100 2
2 it [£3] 6S +1 1460 [£3] 7S = 2210 13
3 panyiie] x 3NT -1 100 x 2D = -90 5
4 PWE=] x 3S = -140 ® 4S -2 200 8
5 it 1t 4H +2 680 1t 5H +1 680
6 panyiic] 1t 5D -1 -50 [£3) 3NT = 400 10
7 PE=] [ri] 4H = -620 [rit] 4H +2 -680 2
8 TS [£3] 4D -1 -50 [£3] 3D -1 -50
9 ,?ﬁ 1t 3NT -2 -100 1t 3NT -1 -50 2
10 | \WHB [ri] 4H +1 -650 x 3NT +2 -660
DATUMSit T
®EHES SZENEARA Y. 5+ 7 35
ZFR/IEER 29 SREELE/IREE 3 ait 7 35
XFHFF /= -3 IBE/FRER 29 V.P. 2.49 | 17.51




[y ep e

HE IS

% 8 ¥ 8 i 2016411 23H
13 it OX VS 12 BAXEBFBA
H= A=
HHOR BT BT HHOR
T 7 ER I Py
& BB 7 e p—— 7 - B
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 2C = -90 x 3NT = -400 7
2 |BEitl = 6S +1 | 1460 [£3] 6S +1 | 1460
3 panyiie] x 3NT -2 200 1t 3C -3 -150 8
4 WE=] x 4S -2 200 ® 3S = -140 8
5 it 1t 4H +2 680 ® 4Sx -3 500 5
6 panyiic] [£3] 3NT = 400 [£3] 2D +2 130 7
7 WE=] [ri] 4H +1 -650 [£7] 3S -1 -100 11
8 TS [£3] 3D = 110 x 3S -2 100
9 ,?ﬁ 1t 3NT +2 460 1t 3NT -2 -100 11
10 | \WHB x O6NT -3 300 [ri] 4H +1 -650 14
DATUMSit T
ESUFOK BAXETFEA Y. X+ 60 | 11
AL /ZRER 24 BRI/ iEPE -33 ait 60 11
Fri=ra/ PRIk 33 ERE /KB 24 V.P. 20




A B REFIFhEE

% 8 %9 2016411 23H
14 FYIIZEPA VS 5 RS EFD
H= A=

TYIEE REED REERD TYIEE

1t - BN % e T % B

5 BEE 7 - pp— 7 - WEIE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 3NT -1 50 x 3C = -110 4

2 it [£3] 6S +1 1460 [£3] 7S = 2210 13
3 panyiie] x 2D -2 200 x 2D -1 100 3

4 PE=] x 3S = -140 ® 3S = -140

5 it 1t 4H +2 680 1t 4H +2 680

6 panyiic] [£3] 3NT = 400 [£3] 3NT = 400

7 E=] [£3] 4S -3 -300 [ri] 4H +3 -710 9

8 TS [£3] 4D -2 -100 [£3] 4D -2 -100

9 ,?ﬁ 1t 3NT +1 430 [£3] 4S +1 450 1
10 | \WHB x 3NT +1 -630 x 7H -2 200 13

DATUMSit T
iR EPA RS D Y. X+ 16 27

N/ ERE 4 =/5=1H 19 &it 16 27
(REM/XIZIE -19 [EEZ/ 715K -4 V.P. 6.28 | 13.72




